

$$= \left\{ \begin{array}{l} 1 + 2\ell^{-j \frac{k_{x} \sqrt{3}\alpha}{2}} \cos\left(\frac{k_{y} \alpha}{2}\right) \right\} \\ f(k) \\ f(k) \\ H = \left[ \begin{array}{l} \varepsilon_{c} + f(k) \\ + \xi^{i}(k) \\ \varepsilon_{c} \end{array} \right] \\ det \left( \varepsilon_{I} - H \right) = 0 \\ \left( \varepsilon_{c} - \varepsilon_{c} \right)^{2} - t^{2} \left| f(k) \right|^{2} = 0 \end{array} \right\}$$

$$= \frac{1}{4} \begin{bmatrix} x + 2x^{-\frac{1}{2}} \frac{k_{2} \sqrt{2} \alpha}{2} \cos\left(\frac{k_{3} \alpha}{2}\right) \end{bmatrix}$$

$$H = \begin{bmatrix} \xi_{0} + \frac{1}{4}(k) \\ + \frac{1}{4}(k) & \xi_{0} \end{bmatrix} \qquad dut (EI - M) = 0$$

$$(E - \xi_{0})^{2} - \frac{1}{2} \left|\frac{1}{4}(k)\right|^{2} = 0$$

$$E^{2} - \frac{1}{2} \sqrt{\epsilon} \cdot E + \frac{1}{2} \left|\frac{1}{4}(k)\right|^{2} = 0$$

$$E(k) = \frac{1}{2} \xi_{0} + \frac{1}{2} \sqrt{\left|\frac{1}{4}(k)\right|^{2}} = 0$$

$$E(k) = \frac{1}{2} \xi_{0} + \frac{1}{2} \sqrt{\left|\frac{1}{4}(k)\right|^{2}} \left[\frac{1}{2} + 2e^{-\frac{1}{2}} \frac{k_{\alpha} \sqrt{2} \alpha}{2} \cos\left(\frac{k_{\beta} \alpha}{2}\right)\right] \left[\frac{1}{2} + 2e^{-\frac{1}{2}} \frac{k_{\alpha} \sqrt{2} \alpha}{2} \cos\left(\frac{k_{\beta} \alpha}{2}\right)\right] =$$

$$= \frac{1}{2} + 2e^{-\frac{1}{2}} \frac{k_{\alpha} \sqrt{2} \alpha}{2} \cos\left(\frac{k_{\beta} \alpha}{2}\right) + 2e^{-\frac{1}{2}} \frac{k_{\alpha} \sqrt{2} \alpha}{2} \cos\left(\frac{k_{\beta} \alpha}{2}\right) + 4\cos^{2}\left(\frac{k_{\beta} \alpha}{2}\right) =$$

$$= \frac{1}{2} + 2\cos\left(\frac{k_{\beta} \alpha}{2}\right) \left[\frac{1}{2} \frac{k_{\alpha} \sqrt{2} \alpha}{2} + e^{-\frac{1}{2}} \frac{k_{\alpha} \sqrt{2} \alpha}{2}\right] + 4\cos^{2}\left(\frac{k_{\beta} \alpha}{2}\right) =$$

$$= \frac{1}{2} + 4\cos\left(\frac{k_{\beta} \alpha}{2}\right) \cos\left(\frac{k_{\alpha} \sqrt{2} \alpha}{2}\right) + 4\cos^{2}\left(\frac{k_{\beta} \alpha}{2}\right) =$$

$$= 1 + 2 \ell \frac{j + n \sqrt{3} n}{2} \cos \left(\frac{k + q + q}{2}\right) + 2 \ell \frac{-j + n \sqrt{3} n}{2} \cos \left(\frac{k + q}{2}\right) + 4 \cos^{2} \left(\frac{k + q}{2}\right) =$$

$$= 1 + 2 \cos \left(\frac{ky\alpha}{2}\right) \left[ l \frac{j k\alpha \sqrt{3}\alpha}{2} + l \frac{-j ky \sqrt{3}\alpha}{2} \right] + k \cos^{2} \left(\frac{ky\alpha}{2}\right) =$$

$$= 1 + 4 \cos\left(\frac{ky}{2}\right) \cos\left(\frac{kx}{2}\right) + 4 \cos^{2}\left(\frac{ky}{2}\right)$$

 $E(k) = E_{c} \pm \frac{1}{|f|k|^{2}} = E_{c} \pm \frac{1}{|1+u\cos(kya)\cos(kya)\cos(ka\sqrt{3}a) + \frac{1}{2}}{|2|} + \frac{1}{|2|} + \frac{1}{|2|}$